
HARDWARE

EA
SY

FL
EX

HA
RD

WA
RE

04

FLAT WASHERS
Part No. Size

FW06 M6
FW08 M8
FW10 M10
FW12 M12

SPRING WASHERS
Part No. Size
EFSW06 M6
EFSW08 M8
EFSW10 M10
EFSW12 M12

Part No. Size
EFHHS0630 M6 x 30
EFHHS0830 M8 x 30
EFHHS0840 M8 x 40
EFHHS1030 M10 x 3
EFHHS1040 M10 x 4
EFHHS1230 M12 x 3
EFHHS1240 M12 x 4

HEX HEAD SET SCREWS

HEXAGON NUTS
Part No. Size

EFHN06 M6
EFHN08 M8
EFHN10
EFHN12 M12

M10

TIE ROD JOINTER
LPart No. Size Length ‘L’

EFTRJ06 M6 20
M8 25
M10 30
M12 40 Standard Finish: Zinc Plated.

*Also available in Hot Dipped Galvanised.

EFTRJ08*
EFTRJ10*
EFTRJ12*

SPRING NUT
Part No. Size
EFSN06 M6

M8
M10
M12

EFSN08
EFSN10
EFSN12

Standard Finish: Zinc Plated.
*Also available in Hot Dipped Galvanised.

THREADED ROD

Standard Finish: Zinc Plated.
*Also available in Hot Dipped Galvanised.
Standard Length: 2m

Part No.

EFTR06 M6
M8
M10
M12

EFTR08*
EFTR10*
EFTR12*

Size


	Page 1

